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H3.1
(1) b5a+7a-3a=|9a

2) -3x-2x—(-4x)-x=-3x-2x+4x—-x=|-2x

3) -5-4x-2-x=|-5x-7

(4) -13a—(-5b)-7a—4b=-13a+5b—-7a—-4b=|-20a+b
(5) a-2(-3a+2b)=a+6a—4b=|Ta—4b]

6) —-2(3a—-8b)—(9a-2b)=-6a+16b—-9a+2b=|-15a+18b

(7) -5(2s—t-1)+3(-2+35-2t) =105 +5t +5—-6+9s — 6t =
(8) 3(2-s5+2t)-5(2s—4t+1)=6-3s+6t—10s+20t —5=|—13s + 26t +1]|
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H3.2
(1) 5TEIDEENRm TRYNI LARAKIISxm+372DT, Zx 4%
LT10 #5|< &,

4(5m +3)~10=20m +12-10=[20m +2]
(2) R 75km OEE Ty RHlE > 7-HAEIX7.5%xx[km] T. @ 12.5 km
DES Tx—2 B A -7~ FEEIT125x(x —2) [km] 72D T, &L T,

75xx+125x(x—-2)=7.5x4+12.546-25=(7.5+12.5)x - 25 =| 20x — 25 [km]
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H3.3

4(x+1)+3(-3x-2)-2(1-x) =4x+4-9x-6-2+2x
=(4-9+2)x+(4-6-2)
=-3x—4

ROT, Bx—4IZENZEND x DIEERAL T,

(1) -3x(-9)-4=27-4=|23
3x2_f4-_9_4-=
@) -3x5-4=-2-4

3) -3x(_l)-4:ﬁ-4: 21-44 | 23
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BB RO T, 2x2xz—1x1x7 =4 -1z =[37]

H3.5
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